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L. A motor vehicle likéan animal can take in oxygen, burn fuel to release energy and
carbon (1V) oxl@aq Name two characteristics of an animal that can distinguish it fron
a molor vehicle. (2 mks)
\
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2. Stg&wa precautions during collection of tive specimens for study in the laboratory.
Q,(}%\' (2 mks)
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&3 Classify man into the following taxa (3 mks)
< ;
@0\ (_:IH.SS o
S Order
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Family
4, The scientific name for the African Kale is Brassica carinata. Which taxomomic group
does the name Brassica refer to? (1 mk)
. State the function of the following parts of a light microscope.
a) Coarse Adjustment Knob, (1 mk)
b) Revolving nose-piece, (I mk)
6. What main functional advan[age cloeq a light microscope have over an electron

oL

mlcroscope‘? ' ook e (1 mk)
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7. The diagram below shm{\v&@generalizul animal cell as seen under an electron microscope.

Study it and answeré@‘questions that follow

a) Name the palts labeled D, and E. ' (2 mks)
. :
E
b} Stale the function of the structures labeled. (2 mks)
D D ) |
I
8. -.____zg_vState 3 functions of a cell wall in plants. . Q’_ mks)
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9. The figures 1 and 2 asdcells obtained from two different living organisms. Study them

and answer the qs@ﬁions that follow.

State one adaptations ofcells in Figures | and 2 to their functions. (2 mks)

Figure I o
Figure 2
10. a) Distinguish between a tissue and an organ (2 mks)
Tissue
g - Organ i -

"b) Name the tissue that

- i) Lines and protects internal and external surfaces. £1 mk)
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i1y Consists of spedial thin walled irregularly shaped cells that are for storage and

pack:aging@ﬁa[arns. (1 mk)
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1. Why is Osmiesis referred to as a special type of diffusion? (1 mk)
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l%.‘k‘ The following is the dental formula of a certain aninal.
4 2 2
< i2 & pm>= m==30
'\Q, 4 Q £ 3
& [dentify with a reason the mode of feeding of the animal (2 mks)
< Mode of feeding
Reason _ -
13.  State two importance of mastication of food. (2 mks)
4. a) name two salts in bile that aid in emulsification of fats. (2 mks)

¢) In what way does sex of individuals determine their energy requirements?(1 mk)
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5. State one similarity and (){@Qdiﬂ?brance between collenchyma and scierenchyma cells.
S\
@@‘ (2 mks)
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¥ 16. What is the main difference between the phloem tissues of the sub divisions
<<‘°\ Gymnospermaphyta and Angiospermaphyta? (1 mk)
a) State two ways in which the protection of the heart against mechanical injury is
achieved during a heart beat. (2 mks)
b) State the cause of arteriosclerosis. | (1 mk)
18. What is the function of thrombaoplastin in the blood clothing process? (1 mk)
19. During an allergic reaction the blood vessels may dilate leading to very low blood

pressure that may cause death. What name is given to this condition? ({ mk)
=
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20. In what way does the si@ch-sugar inter conversion theory differ from the photosynthetic
theory in explaininggff mechanism of opening and closing of stomata? (2 mks)

R
o N et e s i s S smen o
\
A State threg adaptations of the skin of a frog to gaseous exchange. (3 mks)
& B
@{Qe N ’ s e i 2 e PR
Q
&
‘k—@ b) State what happens to the internal intercostal muscles in man during exhalation.
(1 mk)
22 Name the causative agent of whooping cough in humans. (1 mk)
23. 2) Write an equation to represent anacrobic respiration in a muscle tissue. (1 mk)
b) State two reasons why fats are not the main respiratory substrates in humans.
S (2 mks)
24. A student set up the following apparatus using soaked bean seeds and boiled been seeds

to investigate a certain biological phenomenon.

Vacuuim
flasks

3 ,______‘_-“:':

Soaked _§ccds S, [

L] __be'_a:.iriaﬁi} _ -’sti't'.é\g |

TR —
Thermometer
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a) State the obserwglon after 24 hours? (1 mlo
N
SIS e R e g e - S —
b) Accomt for the observalion made after 24 hours? {2 mks)
=)
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Q"’é
C?Q/ ¢) What major improvement would you suggest the student ought to have made for his
results to be reliable? (1 mk)
<
¢ e e e - 5
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Qo‘ 25.  The following diagrams show a section through the cortex and medulla of two kidneys
obtained from different mammals.
; Cortey
(Swprtﬂb(
meclu“cg - MEJU«“R
MCU’Y\WIK\I A
a) Which mammal stays'in a deseﬁf‘? Explain. (2 mks)
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26. State the difference between }é@ﬁtat and ecological niche. (2 mks)
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27 a) StglR two functions of acrenchyma tissue in hydrophytes {2 mks)
___% e e A
il
& e =
¢? b) Name one method you would use to estimate the population of elephants in Tsavo
<& National Park. (1 mk)
'\QI
&
28.  a) How do the following prevent self-pollination in flowering plants?
i) protandry ' (1 mk)
ii) heterostyly (1 mk)
b) Name the type of placentation found in a pawpaw. (1 mk)
£ 29. a) State 2 roles of the placenta in human reproduction:z (2 mks)

b) State two:functions of Follicle stimulating Hotmone in female reproduction.
& i ) (2 mks)
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30.  a) State the roieé*ﬁkfuvenile Hormone in insect metamorphosis. (I mk)
<
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b) oName a hormone that induces parthenocarpy in plants. (I mk)

X
31 Q‘(@ a) State the main d ifference between iemical evolution and organic evolution.

(2 mks)
& n

<° ¢) State the main weakness of Larmack’s Theory in explaining the mechanism of
evolution. (1 mk)

32, The diagram below shows the iris of a mammalian eye.

B What happens to muscle Y and X when the eye looks at an object-in l-)"x_'ighﬁ_:;ligh:f"?
o Coom : : o (2 mks)*
R S ".'?'Musclé,Y i

. e ——

=t Muscle X B L.
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33 a) [here are more e sullerers of colour blindness that females. Explain. (3 mks)
\
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Q7 Distinguish between gene mutation and chromosome mutation. (2 mks)
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